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1.The blood pressures of a group of 15 individuals were recorded as follows:
125 130 127 136
126 134 125 120 125

138 119 130 126 124

Prepare an array of the data, calculate the mean, and find the median and the mode from the array. (16%)

2.In checking the weights of a set of 15 tablets, the following values were obtained:
%Bmg 100mg 9Bmg 103 mg
102mg 105mg 104mg 97mg  99mg
104mg 10lmg 105mg 96mg 101mg
Calculate the mean, the range, and the average deviation, and the standard deviation for the set of values.
(17%)
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1.A sodium phosphate P 32 solution contains 1mCi (37 MBq)/mL at the time of calibration. How many mL of
the solution will provide an activity of 500 uCi(18.5 mBq) 1 week after the original assay ? The half-life of

32P is 14.3 days. (54)

2.The original activity of radioisotope is given as 10 mCi (370 MBq) per 10 mL. If the quantity remaining
after exactly 15 days is 850 uCi (31.45 MBq)/mL calculate the disintegration constant and the half-life of the

radlolsotope (84

3.If 1.85 MBq of radioactivity is equivalent to 50 uCi, how many millicuries would be represented in 7.4
MBq ? (4753)
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Cost-Effectiveness Analysis (CEA)------

Cost-Minimization Analysis (CMA)------

Cost-Utility Analysis (CUA)------
Cost-Benefit Analysis (CBA)-------
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